
Outdoor Kitchen
Main Frame

AA-20231202_01



List of parts
No. Detail Pcs. Used in stepsDimensions

2 2200x60x60
(SB1) 1;21.

1 12. 1 1

3. 1

4. 6 1412x60x40
(SB3) 1;2

5. 3 3

AA-20231202_01

6. 8 1250x60x38 1; 2; 3

2200x60x60
(SB4)

2200x60x60
(SB5) 2

2380x60x40
(SB2)



No. Detail Pcs. Used in stepsDimensions

2 1410x828x38 57.

1 58. 1

9. 1

10. 1 6

11. 2

AA-20231202_01

12. 1 2005x833x65
(LEFT) 7

2377x828x38

2500x145x45 6

1956x95x45

2500x95x45

6

13. 1 2005x833x65
(MIDDLE) 7

14. 1 2005x833x65
(RIGHT) 7

15. 2 1250x120x100 8



No. Detail Pcs. Used in stepsDimensions

1 2540x120x18 916.

2 917.

18. 3

AA-20231202_01

2065x120x18

5000x500x3 10

List of screws
No. Description Pcs. Used in steps
1. M6x12 48 1; 2; 3; 5
2. 27 6; 11
3.

6x80 (Anchor Bolt)

63 7; 9
4.

3.5x45
32 1; 2; 3

5.
4x70

100 10
6.

5x120

8 8
7. 16 4

NG 34/38 (NAIL)
4.2x13



STEP 1

STEP 2

Attention: the vertical detailed quantity depends on the choice of filling!

8x 4x7012x M6x12

12x M6x12 8x 4x70

Attention: the vertical detailed quantity depends on the choice of filling!

8x 4x70

AA-20231202_01



STEP 3

STEP 4

Attention: the vertical detailed quantity depends on the choice of filling!

16x8x60 

12x M6x12
16x4x70

2380

Attention: the fixing screws depends from the basis. Complete screws for fastening to concrete.
AA-20231202_01



STEP 6

STEP 5

12x M6x12

788

766

766

25002045

16x 5x120

AA-20231202_01



STEP 8

STEP 7

46
23

46

48x 3,5x45

23

23
23

8x 4,2x13

AA-20231202_01



STEP 10

STEP 9

70

2540
2065

448

40

90

100

15x 3,5x45

100x NG34/38(NAIL)

AA-20231202_01



STEP 11

11x 5x120

AA-20231202_01



Outdoor Kitchen
Back Wall Cabinet

AA-20230209_01



1x

1x

1x

4x

1x

1x

4x

4x

24x

AA-20230209_01



STEP 1

4x

4x

STEP 2

350

350

AA-20230209_01



STEP 3

STEP 4

6H

AA-20230209_01



Outdoor Kitchen
Side Wall Cabinet

AA-20230210_01



1x

4x

4x

24x

1x

4x

1x

1x

1x

2x

8x

16x

3.5x35

3.5x16

AA-20230210_01



STEP 1

4x

4x

STEP 2

350

350

3.5x35

AA-20230210_01



STEP 3

STEP 4

3.5x16

AA-20230210_01



STEP 6

6H

STEP 5

3.5x16

AA-20230210_01


